FEk3 044 A6H

N = X B

*FHHEHE B
WmisE WAL B B %i%ég

e A

KT B BB B B3 o

Ek2 9OF4AIAMITHEE L 55— 1 TRHIREOHADD o /KT

S BOSIE T BRI/ L2 NARVIZHITDNWT, M5 EiEE (B2 2 F£ikEH
6 T7TH) BLOOKEL SHOBMEICED, ROEBUVHRELET.

L

Tl

450, 000HM

| R R
425, 603H

2 HEE
3 EEgHEmEUEEA
000M

1 EAREH (B2 9& 4HTHZE) 225,

WoEMEY (FR29FE10A6H0%M#E 225, 000H

4 BEOEKHM
FR29F4A1IHMNSERI0ESIAZIHET
e
(1) WHEMEE

(2) ICZREHE
(3) FEINEZOMBUSEHE O O ERDEE

wl



R 2 9 FFERT RS BHTE B R &

F=OE

#H

de o=

WAL HBBELE
O RN K Bl 3% 55 fi %

A - BMEEEVE | KK

UHE= 2 5 IhhsoMFEo< oIS —, ES3
EHHREFYA o3 F—, #HED
WoHRIE - WEDRY — b Ty Tieb,
£ T /N B AR 0D ok HUR T BT — S5 B 7R
2R T 2 5 A HE T V) 7 R & SO
AN T Y RESF— Mo THER
WS EEQHEEEA >N 2 REE
& FE 4

WEVREAEESEHA MR | SHEE

MEPEAEBAGEA | ME | ar-—FREH

TS 595 25 1R BR 1

& 4 BHE R BB | aE—

W OEEHIM: FR29F4ALHENSFRIOFEIAIIEET




THR0FEE RFTESBREFTDEXNE

i

x R

g £

RN\

%léllé
s

%k

¥ EBLER

I WA D&

(B47 0 M)

= # @ & 2| 4000 a4s0000 o
Mo AE & #l R 90 0 2 90
1Y & ] 450,090 450,000 2 90
2 X o (BAZ @ F)
% | 8 Fowom | wwmom| o ow | @ H

W % 30,000 0 s 30,000

WF & %% 70,000 71,240 1,240

N e % 250,000 316,384 66,384

I i # 15,000 0 2 15,000

BUSEDIR |EW - MBEDR 15,000 0 4 15,000
= IS # 15,000 0 2 15,000

# OB O KR 2 25,090 4,147 a 20,943

OB M A 30,000 33,832 3,832

A # # 0 0 0

X H & & 450,090 425,603 a 24,487

URAZED

450,000

(ZHAED

425,603

(ZH&ET) EREGRA)

425,603

X% HZHE . FER29F481AMSERKI0EIAZT1BET

0

(Z517&8)
24,397

(RiEH)
425,603

(FEEH)
425,603




